How many seconds per point to reach a predefined precision on sigma?

Ntot = 27 Ao x SPL — 27 Ax
100 Ntot : Total number of events under the gaussian peak
A= gu(T x Nbcx11223) A: Amplitude of the gaussian

Ntot = /27 ng x Nbcx11223) ©': Standard deviation of the gaussian
10 Npt : Number of points between +50

1
£, = <l g:Algorithm efficiency for single interaction
v 2Ntot $ 4 $
1 L:Number of interactions per BC
Ntot > =7 Nbc : Number of filled BC
1 T :Duration of the measurement of the single point
A> 21227 x Npt ¢, .Error on the standard deviation
| : precision required on the evaluation of o
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21227 x |\1|8t su(Nbc x11223)

For instance:
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